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Løsning Opgave 5

Spørgsmål 5.1 (ca. 10 %)

Inddata:

1. System.out.println(maaler.kontrolAflaesning(true, 19991231, "Rugårdsvej"));


2. System.out.println(maaler.kontrolAflaesning(true, 19991231, "Skovvej"));


3. System.out.println(maaler.kontrolAflaesning(true, 19991231, "Nymarksvej"));


4. System.out.println(maaler.kontrolAflaesning(true, 19991230, "Rugårdsvej"));


5. System.out.println(maaler.kontrolAflaesning(true, 19991230, "Skovvej"));


6. System.out.println(maaler.kontrolAflaesning(true, 19991230, "Nymarksvej"));


7. System.out.println(maaler.kontrolAflaesning(true, 20000101, "Rugårdsvej"));


8. System.out.println(maaler.kontrolAflaesning(true, 20000101, "Skovvej"));


9. System.out.println(maaler.kontrolAflaesning(true, 20000101, "Nymarksvej"));


10. System.out.println(maaler.kontrolAflaesning(false, 
19991231, "Rugårdsvej"));


11. System.out.println(maaler.kontrolAflaesning(false, 
19991231, "Skovvej"));


12. System.out.println(maaler.kontrolAflaesning(false, 
19991231, "Nymarksvej"));


13. System.out.println(maaler.kontrolAflaesning(false, 
19991230, "Rugårdsvej"));


14. System.out.println(maaler.kontrolAflaesning(false, 
19991230, "Skovvej"));


15. System.out.println(maaler.kontrolAflaesning(false, 
19991230, "Nymarksvej"));


16. System.out.println(maaler.kontrolAflaesning(false, 
20000101, "Rugårdsvej"));


17. System.out.println(maaler.kontrolAflaesning(false, 
20000101, "Skovvej"));


18. System.out.println(maaler.kontrolAflaesning(false, 
20000101, "Nymarksvej"));

Forventet uddata:

1. true

2. true

3. true

4. true

5. true

6. true

7. true

8. true

9. true

10. true

11. true

12. false

13. true

14. true

15. false

16. true

17. true

18. false

Process Exit...
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